02 5 22 +y% + 2xy - 2x — 2y O] QITFopd A2

@ x+y @ -x-y
@x—y ® 2x+2y

B

9

@ x+y-2

(& 4)

= (¥ +2xy+y%) - 2(x+)
=(x+y)?-2(x+y)

= (x+y)(x+y-2)

g,
x+»E+y-2)=-(-x-y)(x+y-2)
%(2x+2y)(x+y—2)




X+ 18 AG7E A5 9] el A A58 T o, kg F 9154
PARSR

DO x2+x+1 @ x2-x+1 (@)x2+ V3x+1
@ x4+ V3x-1 ® x2-1

(EH) = ()7 +1
=+ -x2+1)
= (x* + 1){(x® + 1)% - 3x?}
= (x2 +1)(*% - V3x+ 1)(x®> + V3x+ 1)




3. &+4ab+a-b-2° 2A5E AGS A

[e]
10 /\'C{7

© a-b-2 @ a+b-2 @a+b+2
@ a+1 ® b+1

B

oo BE fARE0E e 5 A%Le Buh.

(=) =d*+ab+a-b-2
=da’+(b+1)a-b-2
=(a+b+2)(a-1)




4. 1999719 t}atAl 42 —2x— 1, x2 = 2x =2, ---, x2 — 2x — 1999 o] A
A7k 449 Qa4 0] Fo 2 Q4Re] H AL BE B A

@sH @wuil G5H @A 6 A

B ~

x2=2x-n = (x+a)(x=b) (a, b = AA5) 25 (1 < n < 1999
Al A4

ab=n, a=>b-2

n=1-3,2-4,3-5 ---, 43-45(=1935) ] 437}




5. Al WS A a, b, coll ot [a, b, ¢] = (a—b)(a-c)e & i,
[a, b, c] +[b, ¢, a] + [c, a, b] =0°]®HA [a, b, ]| BF2?

@o @ 1 ® 2 @ 3 ® 4

B

(a=b)la=c)+(b-c)b—a)+ (c—a)(c=b)=0
A5t A5t a? 4+ b2 + ¢ —ab—bc—ca =0
(a=b)2+(bh-c)?+(c-a)?=0

La=b=c

“ la, b, c]=(a-b)(a-c)=0




6.

(44 3)(42 4 32) (47 + 3%) (4% + 3%) & T4He] 5HA?

@ 48 4+ 38 @ 415 _ 315 @ 415 4 315
@ e -3¢ ® 416 4 310

B

(4+3)(42 +3%)(4" +31)(4° + 3°)

= (4-3)(4+3)(42 +3%)(41 + 31)(4° + 3°)
= (42 -3%)(42 + 32)(4* + 31)(4* + 39)

= (4% - 3%)(4% + 3%)(48 + 3®)

= (45 - 3%)(4° + 3°)

— 416 _ 316




xol gt 54 (22 —x-1)% = ap + arx + azx? + - -+ + agx® oA
ar +as +az & F27

-l=a9+a1+ - +ag Q)
FHol x = -1 o,
=ay-ar+ - +ag O
Q-0 -2 =2(a1 +as +as)

v ar+az+as=-1

—




T f(x) = 2+ px+q 2 g(x) = FEIFE ATE e o

F(V241) =0, g(V2+1) =2+ V20°|t}

o217
@x—i—l @ x-1
@ —x-1 ® 2x+1

ol ™, g(x) & f(x)

® —x+1

Al
=

o

1}

=

]

Ar

~&B

g()E f(x) 2 U= 52 0(x)
UM2)E ax + bt oFH
g(x) = f(x)O(x) +ax +b

La+b+av2=24+ 2
La=1b=1
wabA] ek YA x4 1

g(V2+1) = f(V2+1)Q(V2+1) +a(V2+1) +b
=a(V2+1)+b (0 f(V2+1)=0)




oA f(x)E 42t x—3, x+ 12 Y UH A= 2L, £(1) =0 o,

9.
S = (. w2 Aol o) Wm0 0] T TR,
> =
> =g 34

B

f1)=0°I22 f(x) Ex-12
f(x) = (x— 1)(ax+b)

£(3) = f(-1) °1B2 2(3a + b) = —2(-a + b)

S T

Soa=-b
f(4)  3(4a+D) -9b 2

f(=4) ~ —5(-4a+b) -25b 25

oom=25,n=9




10.

1

o2 JeEd

(x+1)(x+2)(x+3)(x+4) —k 7} o] 2H4] o] A F
2w, 4 kO] 72 st

@1 o1 ® 0 @ 2 ® -2

B

(x+D)(x+2)(x+3)(x+4)—k
=(x+1)(x+4)(x+2)(x+3)—k
=(x2+5x+4)(x2+5x+6) —k
x? 4 5x = X 2 g5
(FA) =(X+4)(X+6)-k
=X?+10X+24-k
SAAEA o] =2 24 —k = 25
k=-1




11.

00l o 4] 571 Ak, olE el Te 0, A5l e D,
2, o5 Al o] AlAES] & Fatolat
cCh "

>
> ®e: -1

oHd -

B

A %8 xy,22 548 ol 2RO 2R
x-|—y—|—z:0 ...... @

1 1 1 3
_+—+—:— ...... @
Xy z 2
2+ +2=1--- ©®

(x+y+22 =2+ +22+ 2y +yz+2x) 0|22
@, ©®°AM 0% = 1+ 2(xy + yz + 2x)

% xy+yz+zx:—% ...... ®

@Oﬂlx-]w:§o]_\:_xi
xyz 2

3xyz = 2(xy + yz + zx)

. 1

.xyz_—g

T, 3+ 423 -3xz
=(x+y+2)(+y° +22 -y -yz-zx)
@A x+y+z=00]E&

x3+y3+z3=3xyz:3-<——> -1




12. A7 Al ¥e] Aol a, b, c Aol a® +a*b—ac® +ab® +-b> ~bc* = 0
o

® a=b3l oI5 @ (A =90°¢ A7
®b=cdolsagad  @)c-90°237
® 347

a’® + a*b — ac® + ab® + b* - bc®> =0

a*(a+b)+b*(@a+b)—c*(a+b) =0

(a+b)(a®>+b?>—c?) =0

a=-b B 2 =d*+b?

a,b,c B FolBg2 2 =42 4 p?
(C=90°% AZHAZY




